SECOND INTERNATIONAL SEAPOWER SYMPOSIUM

(BRIEFING - 20 AUGUST 1971)

# SECOND INTERNATIONAL SEAPOWER SYMPOSIUM 1-5 NOVEMBER 1971

"THE SCOPE OF THE SYMPOSIUM INCLUDES A REVIEW OF THE RELATIVE GROWTH, TRENDS AND CHANGES IN MARITIME STRENGTH, EMPLOYMENTS, AND THE IMPLICATIONS FOR ALL NATIONS. IT ALSO INCLUDES A CONSIDERATION OF INTERNATIONAL MARITIME INTERDEPENDENCE AND EVOLVING CONCEPTS OF THE FUTURE AT SEA. IT WILL PROVIDE FOR DISCUSSIONS OF THE CURRENT AND FUTURE ROLES OF NAVAL FORCES IN A PEACETIME ENVIRONMENT AS WELL AS AN EXAMINATION OF MARITIME CONCEPTS FOR THE FUTURE."

# REPRESENTATIVES INVITED FROM THE FOLLOWING 48 COUNTRIES:

ARGENTINA	GERMANY	PAKISTAN
AUSTRALIA	GREECE	PARAGUAY
BELGIUM	GUATEMALA	PERU
BOLIVIA	INDIA	PHILIPPINES
BRAZIL	INDONESIA	PORTUGAL
BURMA	IRAN	SINGAPORE
CANADA	ITALY	SPAIN
CHILE	JAPAN	SWEDEN
CHINA	KOREA	THAILAND
COLOMBIA	MALAYSIA	TUNISIA
DENMARK	MEXICO	TURKEY
DOMINICAN REPUBLIC	MOROCCO	UNITED KINGDOM
ECUADOR	NETHERLANDS	URUGUAY
ETHIOPIA	NEW ZEALAND	VENEZUELA
FINLAND	NIGERIA	VIETNAM
FRANCE	NORWAY	UNITED STATES

## U.S. NAVY OFFICIAL DELEGATES

LETTERS OF INVITATION SENT TO:

ADMIRAL RIVERO

ADMIRAL CLAREY

ADMIRAL DUNCAN

ADMIRAL BRINGLE

REAR ADMIRAL HARTY

#### ACCEPTANCES/REGRETS

#### AUSTRALIA:

VADM PEEK - CNO

COMO McFARLANE - NAV ATTACHE

CDR JOHNSTON - NAV STAFF (FWF)

#### CANADA:

VADM PORTER - CDR MARITIME CMD(COMPT GEN)
RADM CHARLES - DEP CHIEF OF PLANS

#### IRAN:

RADM RASSAI - CNO
(Intends to Answer Affirm)

#### 8 NETHERLANDS:

VADM MAAS - CNO CAPT BESNARD - ASST C/S

#### 9 NEW ZEALAND:

RADM CARR - CNO CDR DOMMETT - NAV ATTACHE

#### 11 PERU:

RADM ARCE - IADB

RADM ECHEANDIA - NAV ATTACHE

#### 12 PHILIPPINES:

COMO PAPA - CNO

#### PORTUGAL:

NEG. CNO - SUB WILL ATTEND

#### 4 SINGAPORE:

**DECLINES** 

#### ) 5 SPAIN:

NEG. CNO VADM MARTEL - DIR., NWC

#### 16 UK:

TENT NEG. CNO - SUB TO BE NOMINATED

#### / VIETNAM:

RADM CHON - CNO

# SECOND INTERNATIONAL SEAPOWER SYMPOSIUM TENTATIVE SCHEDULE

	MONDAY, 1 NOVEMBER
	HOVE BER
0900-0915	WELCOMING REMARKS PRESIDENT, U.S. NAVAL WAR COLLEGE
0915-1015	BRIEFING ON CHALLENGES AT SEA
1030-1115	"REALITY AND OPPORTUNITY" (KEYNOTE)
1130-1200	REGIONAL COMMITTEES MEET (FOR ORGANIZATIONAL PURPOSES)
1200-1400	LUNCH
1400-1630	REGIONAL COMMITTEE DISCUSSIONS
1900-2100	INFORMAL DINNER (OFFICERS' CLUB)
	TUESDAY, 2 NOVEMBER
0900-1000	"PROBLEMS, SOLVED AND UNSOLVED"
1015-1230	REGIONAL COMMITTEE DISCUSSIONS
1240-1430	LUNCH
1430-1700	REGIONAL COMMITTEE DISCUSSIONS

2000-2200

INFORMAL DINNER (OFFICERS' CLUB)

TENTATIVE SCHEDULE (CONT)	WEDNESDAY, 3 NOVEMBER
0900-1200	REGIONAL COMMITTEE DISCUSSIONS
1200-1400	LUNCH
1400-	FREE TIME
2000-2200	INFORMAL DINNER (OFFICERS' CLUB)
	THURSDAY, 4 NOVEMBER
0900-1000	"OUR MUTUAL INTERDEPENDENCE"
1015-1200	REGIONAL COMMITTEE DISCUSSIONS
1200-1400	LUNCH
1400-1445	PLENARY SESSION
1500-1700	REGIONAL COMMITTEE DISCUSSIONS
1900-2200	OFFICIAL DINNER (officers' club)
	FRIDAY, 5 NOVEMBER
0900-1000	"OUR FUTURE AT SEA"
1015-1115	PLENARY SESSIONMODERATED PANEL
1130-	SUMMARIZATION AND CLOSING REMARKS
*TENTATIVE CVA FIR	EPOWER DEMO NOW SCHEDULED IN P.M. FRIDAY

#### SECOND INTERNATIONAL SEAPOWER SYMPOSIUM

#### MAJOR ADDRESSES AND SPEAKERS

MONDAY, 1 NOVEMBER - 1030

"REALITY AND OPPORTUNITY"

- ADM E.R. ZUMWALT, JR.

TUESDAY, 2 NOVEMBER - 0900

"PROBLEMS, SOLVED AND UNSOLVED"

- ADM ARLEIGH BURKE

THURSDAY, 4 NOVEMBER - 0900

"OUR MUTUAL INTERDEPENDENCE"

- MR. ARMISTED I. SELDEN, JR.

FRIDAY, 5 NOVEMBER - 0900
"OUR FUTURE AT SEA"
- ADM RALPH W. COUSINS

## SECOND INTERNATIONAL SEAPOWER SYMPOSIUM

### SEMINAR DISCUSSIONS: FIVE REGIONAL GROUPINGS

- 1. NORTH ATLANTIC AND BALTIC
- 2. EAST ATLANTIC AND MEDITERRANEAN
- 3. SOUTH ATLANTIC AND EAST PACIFIC
- 4. PACIFIC
- 5. SOUTHWEST PACIFIC AND INDIAN OCEAN

\*Countries with more than one Representative will be allowed and encouraged to sit in on more than one REGIONAL SEMINAR.

# BUDGET

Α.	TRANSPORTATION		1971 \$104,680	1969 \$47,107
В.	ACCOMMODATIONS		\$ 8,060	\$ 5,066
C.	SUBSISTENCE		\$ 16,684	\$ 7,372
D.	ENTERTAINMENT		\$ 1,000	\$ 680
Ε.	MISCELLANEOUS		\$ <u>14,576</u>	\$ 9,665
			\$145,000	\$69,890 TOTAL
F.	RESERVE CONTINGENCY		\$ 5,000	
		TOTAL	\$150,000	

## TRANSPORTATION

PARTICIPANTS - AIR \$94,000

PRE-SYMPOSIUM:

PNWC/AIDE EUROPE 5,000

OTHER 1,000

SYMPOSIUM - LOCAL:

AVIS RENTALS (50 X \$90/WK) 4,500

BUSES (a \$15/HR X 2 HR X 6 DAY) 180

\$104,680

## ACCOMMODATIONS

TREADWAY INN

\$7,260

(\$11 X 110 X 6 DAYS)

PARTICIPANTS = 94 + 10

DUTY OFFICE = 1

HOSPITALITY = 2

CONTINGENCY = 3

HOSPITALITY ROOM ATTENDANTS

\$ 300

HOSPITALITY ROOM SUPPLIES

\$ 500

\$8,060

## SUBSISTENCE

SUNDAY:		WEDNESDAY:	
DINNER (170 X \$10)	\$1,700	LUNCH (170 X \$5)	\$ 850
MONDAY: LUNCH (170 X \$5)	\$ 850	DINNER ESCORT HOST PRES NWC HOST	\$ 434
DINNER (236 X \$10)	\$2,360	THURSDAY:	
PRESNAVWARCOL RECEP-		LUNCH (170 X \$5)	\$ 850
TION (236)	\$ 500	DINNER (170 X \$15) OFFICIAL STAG	\$2,550
TUESDAY:		FRIDAY:	
LUNCH (170 X \$5) DINNER (170 X \$10)	\$ 850 \$1,700	LUNCH (CVA) (104) DINNER (236 X \$12)	\$ 200 \$2,840

BREAKFAST MONDAY THROUGH SATURDAY:

100 X \$2 X 6 DAYS = \$1200

TOTAL: \$16,884

#### LUNCHEONS

FIVE LUNCHEONS WILL BE ORGANIZED FOR THE 1st, 2nd, 3rd, 4th, AND 5th OF NOVEMBER.

THE LUNCHEON ON THE 5th SHOULD BE HELD ON BOARD THE CVA, WHICH WILL LEAVE THE FOUR

AT THE O'CLUB. ATTENDEES ARE PROPOSED AS FOLLOWS:

FOREIGN PARTICIPANTS	94 (MAXIMUM)
USN PARTICIPANTS	10 (APPROX.)
GUEST SPEAKERS	1 (EXCEPT WED., 3 Nov
PRESNAVWARCOL OR C/S	1 - 2
RESIDENT AMBASSADOR	1
PROFESSORS	2 - 3
NCC STUDENTS	29
U.S. ESCORT OFFICERS	18
CONTINGENT INVITEES	5_
MODERATORS SHOULD BE INVITED ON	MON 161 - 163 a \$5 = \$815
AND WED (THEY WILL BE TOO BUSY O	THER5 7
DAYS PREPARING FOR AFTERNOON SES	SIONS). $166 - 170 a \$5 = \$850$

#### DINNERS

SIX DINNERS WILL BE REQUIRED DURING THE WEEK. THE COST WILL BE REFLECTED IN THE REFINEMENT OF THE DINNERS. A WELCOMING RECEPTION IS BEING PLANNED FOR MONDAY EVENING, TO BE HOSTED BY THE PRESIDENT, NAVAL WAR COLLEGE, AT QUARTERS AA. THE THURSDAY DINNER IS THE OFFICIAL DINNER HOSTED BY ADM ZUMWALT.

FOREIGN PARTICIPANTS	94
USN PARTICIPANTS	10
HOST	1
PRESNAVWARCOL AND/OR C/S & WIVES	2 - 4
RESIDENT AMBASSADOR AND WIFE	2
LOCAL FLAG OFFICERS & WIVES	4 - 6
PROFESSORS & WIVES	4 - 6
NCC STUDENTS & WIVES	55
US ESCORTS AND WIVES	34
SEMINAR MODERATORS & WIVES	10- 14
CONTINGENT INVITEES	
	226 - 236 a \$12 = \$2,840

# MISCELLANEOUS

PRE-SYMPOSIUM BROCHURE POST-SYMPOSIUM BROCHURE TECH SERVICES (O/T LABOR) MAINTENANCE DIVISION COSTS PRINTING AND DUPLICATING PHOTO REQUIREMENTS NAME BADGES SPEAKER FEES	\$1,210 \$1,400 \$ 500 \$2,000 \$4,000 \$ 100 \$ 50 \$ 200	PRINGLE COFFEE MESS  PER DIEM - DUTY OFFICERS BOSTON/PROVIDENCE AIRPORT  ELECTRONICS  FLAGS: 3'x5' NYGLO (42) \$802  4"x6" MOUNTED/BASE \$ 35  CAR MOUNTS (@\$8x70) \$560  CAR FLAGS (48x2x\$2.80)\$269	\$ 300 \$ 250 \$ 100
GIFTS/PKG	\$1,100	*SIX FLAGS ORDERED IN JUNE *THIRTY CAR MOUNTS FROM OP613 FRIENDS  SECRETARY	\$1,666 \$1,500

TOTAL---- \$14,376

# ENTERTAINMENT

ENTERTAINMENT

\$1,000